HHKRDKEREGRICONT

[C31RIRE 45 AE (FKith: ILF)

KEEZIRH KEBEE R248 | R25A | R26A | R2.7A | R28A | R29A | R2.108 | R2.118 | R212R | R3.1A | R3.2A | R3.38
— AR #%K1mLF100fELLF 0 0 0 0 0 0 0 0 0 0 0 0

KGE BHIhiLIE THH THH THH THH THH THH THH THH THH THH THH THH
ARSIV LRUVZDIEEY 0.003mg/LLLTF — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 —
KEBEERVZDILED 0.0005mg/LLL T = <0.00005 = = <0.00005 = = <0.00005 = = <0.00005 =
ELORUZDIEEY 0.01mg/LLATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
MRUZDILEY 0.01mg/LLLTF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
ERXRUVZDILEY 0.01mg/LEATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
A [ARESOLIEED 0.02mg/LLLTF = <0.002 = = <0.002 = = <0.002 = = <0.002 =
D ERBEER 0.04mg/LLATF <0.004 — — <0.004 — — <0.004 — — <0.004 — —
& STAEAA U RUIERS T 0.01mg/LLLTF <0.001 = — <0.001 — — <0.001 — — <0.001 — =
R HRBEZERRUEHEREZRSR 10mg/LUATF 0.24 — — 0.26 — — 0.21 — — 0.25 — =
D S oEZRUZDIEED 0.8me/LLLT 0.08 — — <008 — — 010 — = 010 = =
1% RIORRUVZDIEED 1.0mg/LELTF — 0.02 — — <0.01 — — 0.02 — — 0.02 —
% mig{biR*R 0.002mg/LLLTF <0.0002 = — <0.0002 — — <0.0002 — — <0.0002 — —
& 14-O XYY 0.05mg/LLATF <0.005 = = <0.005 = = <0.005 = = <0.005 = =
J=1 Eﬁ“,{’é’jﬁ_ﬁ' ';'_f;’;laa IFLY 0.04mg/LLATF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
2,\ DYIEI=E LD, 0.02mg/LLLTF <0.001 = = <0.001 = = <0.001 = = <0.001 = =
% FrS/O0RIFLY 0.01mg/LULTF <0.001 = = <0.001 = = <0.001 = = <0.001 = =
% r)yOOTFLY 0.01mg/LLAF <0.001 = = <0.001 = = <0.001 = = <0.001 = =
x vty 0.01mg/LUTF <0.001 = = <0.001 = = <0.001 = = <0.001 = =
n |BRE 0.6mg/LLL T <0.06 — — <0.06 — — 0.08 — — <0.06 — —
- |[VDDEEE 0.02mg/LLLTF = <0.002 = = <0.002 = = <0.002 = = <0.002 =
1§ |[ZBEHRLL 0.06mg/LLLTF 0.012 — — 0.014 — — 0.014 — — 0.007 — —
g |[C200E#E 0.03mg/LLLTF — <0.002 = = 0.002 = = <0.002 = = 0.002 =
<JOE/aaA8> 0.1mg/LELTF <0.001 — — <0.001 — — <0.001 — — 0.001 — —
e 0.01mg/LLLTF <0.001 = — <0.001 — — <0.001 — — <0.001 — —
IR 0.1mg/LEATF 0.016 — — 0.017 — — 0.019 — — 0.012 — —
PIEEES 0.03mg/LLLTF = 0.010 = = 0.007 = = 0.009 = = 0.007 =
JOESH/O00A8Y 0.03mg/LLLTF 0.004 — — 0.003 — — 0.005 — — 0.004 — —
JOERILL 0.09mg/LLLTF <0.001 = = <0.001 = = <0.001 = = <0.001 = =

RILLTILTER 0.08mg/LLL T — — <0.005 — — 0.006 — — <0.005 — — <0.005
FIMRUZDIEEY 1.0mg/LLLTF — <0.01 — — <0.01 — — <0.01 = = <0.01 =
FILE=)LRUZDIEEY 0.2mg/LLL T — 0.07 — — 0.03 — — 0.05 — — 0.02 —
HRUZDIELEY 0.3mg/LLULF — <0.01 — — <0.01 — — <0.01 = = <0.01 =
:ﬁ% HRUVZDILEY 1.0mg/LELTR — <0.01 — — <0.01 — — <0.01 — — <0.01 —
| FRIDLRUZDIEED 200mg/LELF 5.1 — — 44 — — 1.7 — — 9.8 — —
a)*“ IVAVRUZEDIEEY 0.05mg/LLATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
ﬁE B A1A 200mg/LEA T 4.9 6.7 6.4 4.7 45 6.8 6.4 6.7 7.6 8.5 8.7 7.9
ﬁﬁ DIV L TR LE FEE) 300mg/LUATF 21 — — 16 — — 25 — — 27 — =
g (EEBERY 500mg/LLL TR 50 — — 59 — — 52 — — 75 — =
) Z'( LA REEES 0.2mg/LLLTF = <0.02 = = <0.02 = = <0.02 = = <0.02 =
=% & CIFRAIV 0.00001mg/LELTF = 0.000002 0.000002 0.000002 0.000002 0.000003 = = = — — —
Ef 2-AFILAYRILRA—IL 0.00001mg/LEA T = <0.000001 | <0.000001 | <0.000001 | <0.000001 | 0.000001 = = = = = =
S 2 A REEEH] 0.02mg/LELF — <0.005 — — <0.005 — — <0.005 — — 0.006 =
#L;B Jz/—)L¥E 0.005mg/LLL T <0.0005 = = <0.0005 = = <0.0005 = = <0.0005 = =
<z AR (2EH#RF(TOC)DE) 3mg/LLLTF 0.7 0.8 0.7 0.6 0.5 0.9 0.8 0.7 0.8 0.8 0.8 0.7
IE*L pH{E 580 E86LLT 7.2 15 15 7.3 7.3 7.6 15 15 7.6 7.6 7.4 7.4

N[ EE TR EEgL | BEEGL | B84l | BEEGL | B84l | BEEGL | B84l | EEGL | B84l | BEEal | B2l | BEE4Ll

2R BEETHENIE BEELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL
BE 5EUT <0.5 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
AE 2T <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
RRBIER (RITIRAD 0.1mg/LLAE (SETHREID 0.3 0.3 0.3 0.4 0.4 0.3 0.2 0.3 0.3 0.4 0.3 0.3

& RBI<JIE RXKBERT




